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Select the correct answer using code given 
below:

1 and 2 only(a) 
2 and 3 only(b) 
1 and 3 only(c) 
1, 2 and 3 (d) 

Consider the following statements:64. 
Net neutrality is the principle that Internet 1. 
Service Providers should not treat all the 
data on the internet equally.
Net Neutrality supports for speeding up 2. 
of specifi c websites.  

Which of the above statements is/are 
incorrect?

1 only(a) 
2 only(b) 
Both 1 and 2(c) 
Neither 1 nor 2(d) 

The National Technology Day is being 65. 
celebrated as a symbol of quest for 
scientifi c inquiry and technological 
creativity. Which of the following 
events occurred on this day?

India detonated three nuclear bombs in 1. 
the Indian Army’s Pokhran Test Range.
India’s indigenous aircraft Hansa 3 was 2. 
fi rst tested. 
Test-fi re of the Trishul missile occurred 3. 
after which it was inducted into service by 
the Indian Army and Indian Airforce.

Select the correct answer using the code given 
below:

1 and 2 only(a) 
2 and 3 only(b) 
3 only(c) 
1, 2 and 3(d) 

Which of the following statements 66. 
are correct regarding objectives of 
Science, Technology & Innovation 
(STI) Policy 2013?

It aims at linking contributions of science, 1. 
research and innovation system with the 
inclusive economic growth agenda.

It focused on the need to attain 2. 
technological competence and self-
reliance.
It focuses on facilitating private sector 3. 
investment in R&D centres in India and 
overseas.
It aims at promoting scientifi c temper.4. 

Select the correct answer using the code given 
below:

1, 2 and 3 only(a) 
2, 3 and 4 only(b) 
1, 3 and 4 only(c) 
1, 2, 3 and 4(d) 

What are bot-nets, often seen in 67. 
news?

Cyber threat(a) 
Biological fi xature(b) 
Drug used in sports (c) 
Miniature satellites(d) 

Consider the following statements 68. 
about Global Innovation and 
Technology Alliance (GITA)

It is an alliance of Private companies in 1. 
India 
It is an organisation registered under The 2. 
Companies Act 2013
It provides loans to industries in 3. 
prospective technological areas.

Which of the above statements is/are correct? 
1 and 2 only(a) 
2 and 3 only(b) 
2 only(c) 
1, 2 and 3 (d) 

NITI Aayog has recently proposed 69. 
adoption of Methanol as fuel for 
cooking in India. In this context 
consider the following statements:

Methanol is cheaper than LPG1. 
Methanol fuel won’t  explode unlike LPG 2. 
which can explode
Assam is the fi rst state in India to introduce 3. 
methanol as cooking fuel
India is the fi rst country to use methanol 4. 
as Cooking fuel


